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T Sraveretl &1 R R 2? Rig B

State law of corresponding state prove that :

gal oI OReAT & oI IR &1 Rigr awssy |
Explain Eyring's theory for structure of liquid.
OR
46 U9 3Tl (C,H,OH) T 90 U™ et H el R SUHTel oIl Sl
&7 AT YT FIT BNTT?

46 g of ethanol (C,H,OH) is mixed with 90 g of water, what will be the
mole fraction of ethanol and water?

foreea & foru faf= Tafafa & gl & Jassy |

Explain the different symmetry elements of crystals.

OR
7q freedl & STIyArT wHeEY |

Explain application of liquid crystals.
IfAfshar & dife & fuRer @t srf—smy wrat Ay &1 avf= S |

Describe the half-life method for the determination of order of reaction.
OR

yerH pife affhar & fou Rig HIvTT -

Prove that for first order reaction :

tog.99, =10%t50g,
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Note : Section'A’, containing 09 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

E% %}(3({)—1) =36

Section - 'A'

futukfdr viryikh ¢'uk d mikj ,d ;k nk okD;k e nA
Answer the following very short-answer-type questions in one or two

sentences. (1x9=09)

Te 1. °C, BT #F ST B |

Find the value of

U3 2. 7x + 5y = 3 AR Y@M B yqurar faRau |
Write the value of slope of straight line 7x + 5y = 3.
T 3. A qad U WG9 BT T J9G TSl &7
What is the effect of pressure on mean free path.
U 4. fdeT BT HieTarar bl qRATT HIFTY |
Define molality of a solution.
T 5. AT &I AHG fofRay |
Write unit of Viscosity. P.T.O.
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Define peptization.

Ife argd 3fd 2:3:4 81 a1, fAeR 3fd & 919 F1q I |

If Weiss indices are 2:3:4, then find the value of its Miller indices.
FUNHD SR BT T IATERVT SITY |

Give one example of negative catalysis.

eI xR forRay |

Write Arrhenius equation.

Section - 'B'

futukidr y?% mikh; c¢'uk d mikj 150&200 *iin Bhek e ni
Answer the following short-answer-type questions with word
limit 150-200 (2x5=10)

afe &1 Al x BT A 1T BT |

If then find the value of x.

OR

BT & BITY |
Solve (111), x (101),.
R1g I/ Prove that : Vec=3b
OR

fest A9 9R SO, T o Hred Hel o 27°CWR O, o7 H/Ied Jel ol
@ I BAIT?

At what temperature the root mean square velocity of SO, will be equal
to root mean square velocity of O, at 27°C.

Rl & T ¥ 3T fredl faeia &1 VMR & S dRer?
How can you determine the molecular mass of solute by depression in
freezing point.

TR 4.

YR 5.

bipsmn,
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ey UG MY faeaql ¥ 3R e Iy |

Differentiate between ideal and non-ideal solution.
IO T |7 87 BT Hed IHSSY |
What is Gold number? Explain its importance.

OR
ST & FHIGROT B GART HIToT |

Derive Bragg's equation.
AMATHIT TR BT YT BRA Tl HRDb DI H 87

What are the factors which affects the rate of reaction?

OR
T T Al ueref #1 srgaeny 100 & & | &) ReRri® &1 41 &
BITT?

Half life period of radioactive substance is 100 days. What will be its rate

constant?
Section - 'C'

fuEukfdr nhk mikjh; ¢'uk d mikj 300&350 “kCn Bhek e ni
Answer the following long-answer-type questions with word
limit 300-350 (3x5=15)
BT y =x°- 9x2+ 24x -18 &1 Ifeerss ud M &1 A S1d BIfSTT |
Find maxima and minima of function y=x?-9x?+24x-18.

OR
AT (17.25),, DT IR 3fp H gRafcid BTy |
Convert number (17.25), into binary number.
N @ Sufdd O @ fAaReT R dM™ & UId Haddel dlegolHe
faeRor | &) Aergar 3 sy |

Explain the effect of temperature on the distribution of molecular velocities
with the help of Maxwell Boltz mann distribution law.

P.T.O.
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